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.: il . L Which of the follow |
N Mt el e e |~|I|-i:u-l|\' mintohed with relerenee

Praforfia 0 ada an am agfera ael R ¢ HAARC st Looall
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(1) 1617 e, 108G “:'f,l"| l o (Dankalore)
(Y (1) @4 Docomber, Colontho
(2) 2.3 [ay, 1088 R T
(3) 12-14 l|§| 1097 nIe (18 M".\’- IIHI? Munle
(4) 2.4 T, 1ORT Wy (1) vl NIH'HIIIIIHI'| I(II”I“HI”IIH
P | N
SEGIGRRE
L () Quention nol pttemptod

EE-FQT{JHI MEER h TIT!I-II“"I“ il llii-"l' 2 Where wan the LOM pommid ol the

fra e wel e BT 7 hondn of governmen! of the Non.
- | ' ( hold ?
(1) @Ter, e Aligned Movemen

(2 W1, WA (1) Knmpnln, U gandn
-{3) e, AT (2)  Baku, Azorbaijan

(1)  Gnnel, Azorbaljnn

| —

(4) wETE!, Qe

(H) aia we (4) Kuabnli, Ugandn

(6)  Quention not attompted

g. anfEaE & wre & arnede 1 W Jeeftr
Tywat 1 fysferfa i @ wa wm uafifem 3.  Which of the following in not
included in  the purposes nw

@;@ [ ] mentionod in Article 1 of the
eplj(l) Zf&TUT-'{E’ U;Emn q.ﬁ WT‘{[ Eﬂrqn Charter of ASEEAN ?
, (1) To proserve South-onst Asin

qad &1 & w9 1 aufdr & |

(2) ar gfafzam wen fa snfeam & e |
3t wze 2 fava & @y =g, | (2) To ensure that the peoples
ArEifE i W‘Eﬁ AT , and membor satates of ASEAN

live in pence with the world at

an o nuclonr weapon free
zone,

1 yrifeqdas ¢ | ol
- large in a just, democeratic and

9)/ aniftrar wew 2ol & anfaws ameEd harmonious environment,

T gRg T H | (3) Non-interference in tho

. internal  affai SE

(4) wifa, qiEn s feman @) e 9 i moembor Ht':tt:r:.m “ A5

"G TWIAT | | (4) To maintnin and enhance
(5) srafa | penco, security and stability.,

. (6) Question not attompted
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VI ¥ a7ay few Terd! 90 HI HEAM % | 4.

féra “ ayvqers i ST SETn °t ?

(B e

(2) wiERH

(3) 3Agre

(4) e

(5) 3rgui@ wH

g1 @1 geh. 11 & gafem ot 3R W

IR e % W EEERA & FHEd

g1 11

(WRa - s T AwEa) ()

i, afte T OB (a) 2018
HIATTE e

TRSHEIECRRCEEE (b) 2019
Iriten e witie

iii. FRhTE Hrfeaierd! (c) 2016
we fasife witte

iv. sefege famfcd wite (d) 2020
F:
i ii ili  iv
(1) d () (@ (b
(2 @ @® @ (@©
@) b @ @ (©
4 (d (@ (@®) (a)
(5) T T

fyerifena 1 & frw 3w X e wew | U8
gizq A% EEa |39 ghe (2024)
A I R 7

(1) SmaH

(2) IvSHRRN

regarding

India launched “Operation NEER"
to support which of its neighboring

countries ?

(1) Maldives

(2) Bangladesh

(3) Nepal

(4) Sn LLanka

(5) Question not attempted

Match List-1 with List-IT and select
the correct answer by using the
codes given below the lists
defence  agreement
gigned between India and United

States and Year :
List-I List-11
(India-USA defence (Year)
agreement)
i Basic exchange and (a) 2018
. cooperation
agreement
ii. Logistics exchange
memorandum of
agreement
iii. Communications
compatibility and
security agreement
iv. Industrial security
agreement

(b) 2019

(c) 2016

(d) 2020

"Codes:

i ii iii  iv

M@ © (@ O

2) (@ @®) () (o)
@ b d @ (@©
4 d @ @O (@
(6) Question not attempted

Which of the following countries
“has hosted the 34 Voice of Global

South Summit (2024) in virtual
format ?

(1) Japan

(2) Indonesia

(3) SriLanka

(4) India

(6) Question not attempted



(1) TS

(1) HATHS
aE! faweg T4 ¢
(1) & (i), (i) 3N (iv)
(2) @A (i), (iii) 3N (iv) 3
A8) (), (ii), (iii) 3N (iv)
(4) A (i), (ii) 3N (i)

(5) ITgaRa ¥

9. (daAten Ao $ way A Prefafes 4.3
FA AR ? =2
ﬂﬂﬂﬁﬂﬂiﬁ%ﬂqmﬂ,aﬁm

ﬂﬁﬁ%mﬁl

(2) mm%mmal
maﬁiﬁﬁmaﬁﬁwﬂl

(3) usmﬁns%%qw;
. %]
aa'éﬂﬁa;mmmmmm|

9198 g1 471 |

(5) Fia weq

2024,

_mber
SePtE“g;dhhav', India ,
1on flood relief assist,,

he fﬂuﬂwing countrieg

2) Maldives
(3 SriLanka
(4) Bhutan

(5) Question not attempted

According 1O George H. Sabip.
every pnliticﬂl theory consisi:
which of the following elements ’

i) Factual (11) Causal

(iii) Valuational (iv) Affectional
Choose the correct option :

(1) Only (i), (ii) and (iv)

(2) Only (i), (iii) and (iv)

(3) (@), (1), 1) and (iv)

(4) Only (i), (i1) and (iii)

(6) Question not attempted

Which of the following statemen!

regarding the McNaughton Plan is
Incorrect ?

(1) MEN:&ughtnn as the
Brazilian general who headed

(2) :}m SEEurity Cnuncil.
nder the McNaughton Plan,

the Armies of both Pakistal
and  Indig were to D¢

(3) rlthdrﬂwn from Kashmir.

t was g pro o
Fawss Posal to demilitarn#
KMN for g plebi .

(4)

(5)

1




10. froifes § @ fF fER 3 I g

11.

"7y uvg Ayg” & w0 I i )
T fase % oo & ®9 ¥ rnfie fan
3 Taffs fagr ¥ S U Uit
TR YTeviar® NI S 7gra fem 7

(1) STt MW
(2) famwgE
3y Sfagd=A
(1) UHEHE -
(5) goiE ¥H

T fiygra & T9-JRATTd iU &

Hﬁﬁﬁ:ﬁfﬁawﬂmﬁwﬁ

(i) Sl & Tad Al % F9 A
ey ¥ w9, foa ufa o 9 9y
3N T § T TR TS ' 8,

U, FEYTEETE 6 & W AR ¢ R

5 gam w fovw ARs AR
e g # “atafifEa & & |
Toifas g=1afl & 39 ToHIdH
A3 F gy SUEtl JE 1 A7l 8,
3% ‘=i & w9 § 781 afes Fam’
% TR &% &9 0 @l J@l g, A
= FOi3 & TEER H
PR afta Fd © |
mﬁqmmﬁﬁ__ﬁﬂ?m/ﬁaﬁ%ﬂ ?
(1) <had ()

(27 () 3 (i) g

(3) A4 (1) IMAE (i1)

(4) a4 (i)

(5) IG5,

12. ﬁmimﬁﬁﬁfaﬁ'mﬁmqﬁtﬁ

‘feaafafda <Rk wa1 2 ?
(¥ TR A

2) faiwm

(3) THT TR

(4) THIS fHEe

(5) IITRG T

10.

11.

12,

Who among the following scholars,
through his book “Truth and
Method” established Hermeneutics
Analysis as the philosophy of social
science and promoted normative
practice by considering it as 8
system in political theory ?

(1) Georg Gadamer

(2) Leo Strauss

(3) David Easton

(4) Thomas Kuhn

(5) Question not attempted

With reference to new
institutionalism  approach  to
political theory, consider the

following statements :

(i) Rather than viewing institutions
as independent entities, in which
case they exist almost outside of
time and space, new
institutionalists emphasize that
institutions are ‘embedded’ in a
particular ~ normative and
historical context.

(ii) Political institutions are no
longer equated with political
organizations, they are thought
of not as ‘things’ but as sets of
‘rules’, which guide or
constrain the behaviour of
individual actors.

Which of the statements given

above is/are correct ?

(1) Only (11)

(2) Both (1) and (1)

(83) Neither (i) nor (i1)

(4) Only (1)

(5) Question not attempted

Which of the following scholars has
called Karl Popper as ‘Inverse
Platonist’ ?

(1) Ronald Young
(2) Leo Strauss

(3) Norman Jacobson
(4) Mulford Sibley
(5) Question not attempted
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g the following Scholap,
13 Preifen 3 3 e figr 3 ot g g | 18, Who among the T

; ‘Th tiop
) in his book
T AT T AT Ve i we R s wiale

hat traditional Natjq,,

' ted t
2 .| State sta hecome unnﬂtural‘
B-TS HPqe arefeqgeey 3 I have

states _ nits in a globg)
AV FHERT a7 even impossible U
:Tf;'ﬁz:;ﬁaﬁm ecunnm}'? R
“(1) Kenichi
2" i g I -(2) Robert Keohane
(3) 2Pz iy | %@ David Mitrany
(1) R wre | (4) Stephen Kohen s
(5) IR woq (5) Question not attempte

14. ¥R w5a & e A, IEAFTEF | 14, Which of the following statement/
fereeiyoy * qEy o PrafefRea g 39 is/are correct with regard

to
inguistic School scholar Tp

/8 wys qE /8 7 _‘_,I\iTl:]ijﬂ;ﬁ':;nﬂlyEiB of State ?

L T&F T dMeae e ‘I His book is ‘The Vocabulary of

? = Politics’.

IL. =3 it seuron o frowmess =g | I Concept of state s
] Iemn B IR R, A I | N hopelessly muddled term,
T F9 § W e wy a7 3 | frequently  invested  with
TR | | dangerously misleading

III. U9 wya: 3= wiIRe N Treifyes shy | s Hmfal wemnes'_ _

R | “III. State ig clearly subject of high
kil N grade philosophical interest.
wet faeea gfa | . Choose the correct option -

(1) St 11 3k 11 | ") Only I ang

(2) I, Ilsfk (2) I 1 and 1y

(3) eI (3) OnlyT

(4) HEe ARl = (4) Only 1] and IJ

1(55 AT T w(.ﬁ) Queatinn not attempted

15. Pl REmet 4 & B s 15, Siwn, | ‘
e T R 7 " «'V710 among the fn]]ﬂwing thinkers is

b ot the apost]e of existentialism ?

(1) = oiet wr (1) Jean pay, Sartre

(2) I HM (2)  Albert Camy .5

(3) & Fie e ®) Daniel gy

@ = ded n-Bengit

(4) (4) KEI"I JEEDEI"B

(5) W@ T | (5) Quest;

+_ \ | EEtlﬂIl ot attempted
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16. faifesg # @ fr@ o9& 3 sy 3y | 16, Which of the following thinkers
‘ThiFa amiTEs Mo % ¥Y § fyfim portrayed the state as ‘unifying

frmd 7 gocial formation'?
(1) . freaet 1) C. Sylvester
A. Tick
(2) Ju, RFN (3) 4. 3ickoer
: (3) Nicos Poulantzas
(3) frepia dietTed | |
(4) Joseph Stalin
() AR wifeH .
(5) Question not attempted
(5) IFaia ¥
17. fraa g e R 5 usw qommess | 17. Who gave the thought that the
Sl @dl 'B AR qB de Ay =I'€f state has relative autonomy and it
BqaT ? | is not a neutral arbiter ?
(1) TaTes =i (1) Ronald Dworkin
2 2) Hegal
(2" &= (2) Hega
3) Jeremy Bentham
(3) it Eym ) ?
(4) Karl Marx
(4) <hrel AN
(5) Question not attempted
(5) 3T W

18. Who among the following argued
that the state was afflicted with

18. Profaftaa § @ #1778 76 a1 ¢ 16 T
afa el @ WA TH I AN

|
‘Soul Stuff’ an abstract and mystical
e farvara & f g e 7 e e | |
e V- 3 | belief that state somehow represents
tﬁ - R | the ‘whole’ of a community ?
(L e (1) David Easton
2] TS i 2) Almond Powell
(3) CIRIGEE (3) Poulantzas
(4) Arthur Bentley
(4) IR EEA | |
| (5) Question not attempted
(5) I 9w
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16. f=ifesg § @ fr@ f&="® 3 U=y 3y | 16. Which of the following thinkers
‘ThiFa s Mo % ¥Y § fyfim portrayed the state as ‘unifying

frmd 7 gocial formation'?
(1) . freaet (1) C. Sylvester
A. Tick
(2) I.u X () d. ickner
; (3) Nicos Poulantzas
(3) frepia dretTeTd | |
(4) Joseph Stalin
(@ AR wifeH |
(5) Question not attempted
(5) Iaid ¥
17. fraa zz e R f5 usw qommess | 17. Who gave the thought that the
gl @dl 'B 1 [ qE de Ay =I'€f state has relative autonomy and it
BqaT ? | is not a neutral arbiter ?
(1) TaTes iR (1) Ronald Dworkin
2) Hegal
{2y € (2) Hegn
3) Jeremy Bentham
(3) St #m ‘ ,I ﬂ (3) ’
(4) Karl Marx
(4) hTet WS
(5) Question not attempted
(5) 3T W
18, P § A E‘h‘-!m & a1 2 6 T 18. Who among the fullnwiflg argl{ed
that the state was afflicted with

afa el @ WA TH I AN

|
‘Soul Stuff’ an abstract and mystical
e fvama & R T feet 7 Feel e | |
eV 3 | belief that state somehow represents
tﬁ - R | the ‘whole’ of a community ?
(1 Ve (1) David Easton
A2)  3mIE Hide (2) Almond Powell
(3) WA H (3) Poulantzas
(4) Arthur Bentley
(4) IR EEA | |
| (5) Question not attempted
(5) I I
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27.

@

fwrifsn 3 Q fava frgr 3 am 3G fean
& A 3 3 o @ W & L
et ) fgserar 3 g w0 gfe )
mr‘uﬁ W gumeRTel e & ferehféra

ET\ Y avsren W) soafr R ET B ¥,

(1) vy, W .' |

(2) Naw fRenfe
(3) q forw |
£4)  Tud wfam

(6) Irguf@ ww

Fr=ferfaa @i o Rrem st - e
(i) vkl & quawo & Rrgm H
e 1 v e AL, o
T MR | |
(i) M-wdwfrw fPraw e dgem
el Y T § gt
withar 3 sema oft e £
mﬁqmmﬁﬁﬂﬁam/‘évﬁ&ﬂ?

| 27.

(1) %*ad (i)

|

(2) (i) 3R (i) g |
(3) =4 G) AR (Gii) j
l

77401

(4) w&ad (i)

ﬁj/agﬁham

frefafea @ @8 8 @ & fEmig
T A Fram - iy ) frimarene

(1) %aﬁaﬁﬁm&mwﬁw,
femmadiR | | |

|

|

(2) ﬁmﬁﬂhﬁﬁf‘ﬁﬁmﬁ‘nﬁﬁ
yfeafua feFmrmn ¢

3) fram afufla sfrmst § R
3t Prfeeaan gt 2

(4) ¥& ¥ g w0 F wey g
qUe @ |

(5 et s l

10

¢ the following . -

26, Which (;mt failure of d”'““

o cold war period iy, |

uring th
jl\ erica confirm t that ‘separay,,
I:,:f;;‘l‘!‘ an ﬂl'fect demog,,,
po

pntuntm
(1) S.Stokes
(2) Joseph Stigltz
(3) John Linz

(4) Robert Cox
(5) Question not attempted

Consider the following statemey,: .
) A  classical or .
interpretation of doctrin,
geparation of powers is g ..

by M.J.C. Ville.

(ii) The structures of the extr.
constitutional checks and
balances system also includs
the political process and
public opinion.

Which of the statements given

above is/are correct ?

(1) Only (i)

(2) Both (i) and (ii)
(3) Neither (i) nor (11)
(4)  Only (i)

(6) Question not attempted

Which one of the following is not

an attribute of ryje adjudication 10

the develupmg states ?

(1) It is not q part of the political
PTOCess in the true sense.

(2) Tt is Prohibited from playing
any role in policy making.

(3) There 18 gtability and

certamty in rule Edjudlcﬂ[iﬂﬂ
Procesgeg.

(4) It iﬂ, lﬂdEpendEnt HIII’.’I.

nly in theory.

(5)  Questjop not attempted
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29. "Tueni ¥ fou A 3w @ R Ay a=l

%hm, WWﬁw’
uTgt wrn # w1fy e ; arfirs o §
Eac arn I” @, urhvg g8 YA
S 5 e .2 o e
ST R ?

(D wgeErd g

(2) wigReATS) g
(3) =& g} gieento
(4) wTeHaTd) giesHt

(5) Igafa ¥

30. ﬁqﬁﬁfiﬁﬁﬁﬂf‘ﬂ&sﬁﬁw
THEY yuTTed! 918 WTel @ 7

(i)  —iieis i) e
(111) gl (iv) -1

el o w4

(1) @Had (i) 3N (iv)

(2) =ad (i), (iii) 3R (iv)
A3 (), (i), (i) 3R (iv)
(4) e (i) AN (i) i

(5) IHaE WY ‘

mﬁﬂmmﬁmm
HIcd ' yIeg 1 EIET T8 THAH
& o T faema &1 wac™ e
e 3i amfire wmfa € 48 2, afew
mmaﬂwﬁaﬁaaﬂnﬁﬁmm

31.

i frfga 2 ¢ o

(1) g whis ST %
(2) TSR Hia-H
(3) v =Asa
9 T e
(5) Idia WA
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29.

30#

31.

«pemocracy 18 to adults what

colate 1s to thldun endlessly

cho

temptlllg- harmless in Hmnll dose;
51cken1ﬂg m‘ excess,” This
Etﬂtﬂment of D. Marquand
hﬂrﬂCtEﬂZE“ which of the
following views of Democracy ?

(1) Pluralist view

(2) Corporatist view
3) New Right view
(4) Marxist view

Question not attempted

(5)

In which of the following countries
is the Majoritarian Parliamentary
system found ?

(i) New Zealand (ii) Finland
(iii) Italy
Choose the correct option :

(iv) Germany

(1) Only (1) and (iv)
(2) Only (11), (111) and (iv)
(3) (), (11), (111) and (1v)

(4)
(5)

Only (i) and (11)
Question not attempted

Who among the following thinkers
coined the term ‘false democracy’ to
explain that development does not
only mean economic and social
progress but also implies the
political meaning of freedom and
democracy ?

(1) Fareed Rafiq Zakaria
(2) Edgar Owens
(3) Jean Blondel

Gunnar Myrdal

Question not attempted

(4)
(5)



(8) AT () INAH Gij)
(4) = (i)
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34.

central gov
K.C. Wheare ?

(1) Power pulitics.

(2) Cultural politics

(3) Depression politics

(4) Techno politics

(5) Question not attempted

Edmund Burke was associateg
with which of the fﬂuD“’ing
principle models of representatiop”
(1) Delegation

(2) The Mandate

(3) Resemblance

(4) Trusteeship
(5) Question not attempted

C:_:trLsider the following statements
with reference to the t
federalism - i o
(1) The communist states, the
erstwhile USSR, Czechoslovakia
:and Yugoslavig were termed
&Eeu‘iﬂ federationg’ as behind
’ e figi;ade of formal division was
EwhiEtghly centralized  and
both id m?te‘fl control of power
) The c0logically angd coercively.
Yrm  ‘marble  cake

fed ’ ]
theE;::lleBi] Was used to describe
tll the Ny, rOlution in the US

Deal legislations.
above 18/are carr;?:ements given
(1) Only (i1) :

(2) Both (i) an
(3) NEithEr

(4)  Only
(5) y (1)

nd (i)
(i) noy (ii)
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33.

Srfafes § § @9 8 TGS 201 &
TRFEL?

(i) e @ e

(i) fea syl 3R THATHO

(i) T

(v) &= o

58 fawea 1
(1) == (@), () 3N (i)
(2) e (i), (i) FR (Gv)

37 (). (i), (i) 3 (iv)

36.

b s

—

e

03

(4) Ha= () IR (1)

(5) Haia ¥

FHeGE HAS  30EEE IUTHI

(d.377%. 378, ) @ g=iAe farfea wa

W faer i

M = =Ea 3IRAT AW E
189“ﬁ§itﬁ|

(ID) a qfl a9 H (FEgEl 2024)

1. 3778378, & IITAE £ |
Eﬁﬁiﬂﬂwm:

(1) Hea)aER I

2 @A) T FE R |

3) MWANIFFE AL |
4) Faa()F@ER
(5) ﬂaﬂﬁﬁm
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35.

36.

Which of the following are the main
functions of political parties ?

(i)  Elite formation and recruitment

(i) Interest articulation and
aggregation

(iii) Socialisation and mobilisation

(iv) Goal formulation

Choose the correct option :

(1) Only (i), (i1) and (iii)

(2) Only (1), (ii1) and (iv)

(3) (i), (1), (111) and (iv)

(4) Only (1) and (i1)

(5) Question not attempted

Consider the following statements

about Confederation of Indian

Industry (CII) :

(I) It was established in 1895 as
name ‘EITA'".

(II) Sanjiv Puri is the current

(October 2024) vice-president
of CII.

Choose the correct option :

(1) Only (II) is correct.

(2) Both (I) and (I1) are correct.
(3) Both (I) and (II) are incorrect.
(4) Only (I) is correct.

(5) Question not attempted

In which of following country’s
constitution it is mentioned that
‘statutes guarantee the equitable
participation of political parties
and groups in the democratic life of
the nation’ ?

(1) United States of America

(2) Switzerland

(3) Japan

(4) France

(5) Question not attempted



(98D QR ) Prferfern i @ w W

39.

40.

/(,gf (A) @@ (B)eHi aél & |

WA & wora A i) o g § 7
() wesh i)
(iil) T Reahs j
wet ey i .
(1) &&= (i), (ii) 3N Giii)
(2) & (iii) 3N (iv)
(3) (1), (i1), (iii) 3N (iv)

S Fa (i) 3k Gii)

(b) orgaRa
IR F A | grafa freifea sl
T feram Fifdro .

(A) I F IR FHAN, FHEA ¥
T # fmin w@ & s, |

wifsRrameft & ¥ |

(B) W % gun R F frewt ' W
B TR JEHE R, T Wl g
AT &1 56 F A I B E | |

w8 faeg &1 997 Hifve

(1) %=« (B)@di e |

(3) (A)Ud (B) i vt 7l & |
(4) wact (A)TER |

(5) Hulia ¥

Prerifies & @ ® &1 B o T g |

T —

38.

39.

|
| 40.
|

s S gre i T 2l o ey |

¥ fore Secerd ! 3 afiifo g 7 |
(1) e ad % ety w5 g |
j5 ENESTR |
(4) AT H HHT ]

|

(5) HIaIE T

14

llowing works
I‘:;::ti::l:urzft:::zlﬁlevoid of Smr,“b:,
influence ? 1
j (ii) Phaedo
E:i) ?Ezlggtﬂaman (iv:) Tl.le Faws
Choose the correct Optll?_n ,
(1) Only (1), (i1) ﬂn!:l (ii1)
(2) Only (i11) and (w?
(3) (i), (1), (iii) and (iv)

(4) Only (1) and (i1)
(5) Question not attempted

Consider the following statements
about Aristotle’s views on equality:
(A) According to Aristotle the
lesser form factions in order
to be equal, the equal in order

to be greater.
According to Aristotle

inequality is everywhere at
the bottom of the faction, for
faction arises from men
striving for what is equal.
Choose the correct option :
(1) Only (B) is correct. .
(2) Both (A) and (B) are correct.
(3) Both (A) and (B) are incorrect.
(4) Only (A) is correct.
(6) Question not attempted

(B)

}':’hich of 1_:he fnllowing factor is not
included in the responsible factor

of the origin of political parties as

described by La Palombara and
Myron Weiner ?

(1) _Criﬂ_ia _uf Dispersion  of
Institutionalized power
g; Crisis of Participation

Crisis - of territorial
Integration

(4)

(6)

Crisis of Legitimacy
Question not attempted
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44. “ﬁﬂﬂﬁﬂhﬁa—@mﬂnﬁiﬁﬁJ
Fr=ferfrs west or faamost -

| 44, Consider the

about
Sarvodaya :

fg]lﬂwlng statemen, g

‘he Gandhian concept

in the Vedan;,

ots

(1) !’Hﬁl ag wam & mfas (1) (I::)Encerl?t of the spiritual unj,,.
# geifas  @UTN 3R of existence ﬂndncz}];i Gity.
co 4
Hﬁ‘rﬂfh a1 @i Sfai H werd @l Buddhistic s, - - o
-y armuron i R | garvabhutahl f

(11) ¥9 afe & l all living beings. o
: 9 mﬂm (ii) Its cgmprehEnEIVE 1 E'Elllﬂm
Wﬁ-ﬁm i dyy ﬂ% ‘wftrawan J supports to the LUCkEHn

theory of mﬂ]OHtﬂrlﬂnlsm and
the Benthamite formula f

YT W | J
test good of th
IR feu M weEi Ay wm/A T /€ 7 ;};gateg;f:umber )
(1) %3 (i) wl;hlch fof t;i res;agemeﬂtﬂ Biven
| B above is/are
(2) () 3R (1) 3 | (1) Only (ii) )
; . 2) Both (i) and (11)
@ 36 st G (3 Noither () nor i)
(4) =4 (i) (4) Only (i)
®) - l‘(?) Question not attempted
) , 45. ‘Which of the following idea of M.K.
45. .. Tt & F=ifeg § @ frg Remw ‘Gandhi was rejected by Ram
—_ Manohar Lohia ?
TTFIEI;“EI Eﬂtﬂl \
ol S, ma@ﬂ\ﬁ‘mﬂﬂm v (1) Ends and Means principle
(1) ¥y vay qv fagm g; IS:,“;‘H“ nimdchme technology
. olitical decentralization
(2) oY 7F ah1H (4) Reconciliation of religion to

|
|
(3) ToHIfa =T
4y ud 3R TeHifa 6 gee

|

politics
Question not attempted

46. Whmh one of the following pairs is

(5) i@ ¥ ?}T; cnr]::ctly ma?:hed regarding
ads

46. Hfewa & ardyme ﬁaﬁhamﬂﬁwﬁ%; ‘departments andﬂ thnu_»u'-g 0;3:%?82;

s s e e | osribed, i 7 i

ﬁﬁmmwwmg? ; (.1) i?szigirac;hyaksha — Chief

(1) e - T e i { @ Vivitadhyakane " et

(2) ﬁﬁmﬂ = = '_ Ty e | 5 ;‘;{l:gzlcﬂtﬁndent of forest

: 8 ;

(@) - A, " f:rm:ﬁ(mm | (3) fﬂ“;‘;?ﬂhﬂl;’sll:ﬂhﬂ = Chmf textile
4 FHATHhIETE - g o er *

(4) Hmﬁ ' W #i } (4) Aﬂkﬂradhy’ﬂkﬂha = Chief

.I g .“, , *. l Cﬂntrﬂller ﬂf. mlning ﬂnd

metallurgy
Question not attempted
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11.

03 .

w0 ¥ I ATfER e ¥ Sy &
TR 3 w1 U G W HETE - srmn-
yiqt’ (amour-propre) %l frrm e
g T forgra @117

(1) gt @ ger 6 3T T B
(2) ST~ TTETUT Tl 3T JTET

(3)  FelA-STeh W T S

af) Rreea 91

(1) Faa (i), (iii) 3T (Qv)
(@) Fa (i), (iii) 3N (iv)
@) (@), (i), (i) 3N {v). -
(4) e (i), (i) 3N (D)

I S—8
—— I ——— —
s m—
= " ——

|

41.

According to Rousseau the life
collective state precipitates the
development of a new motivating
principle 1.e. 'ﬂmﬂur-prupre'. What
was this new principle ?

(1) Drive toward comparison
others

Drive towards
preservation

Drive to be noble-savage
Pity

Question not attempted

with

(2) gelf-

(3)
(4)
(5)

Who among the following puliticpl
thinkers has Euppnrted the
education for women and proposed
a new curriculum called

‘Christomethia’ ?
(1)
(2)
(3)
(4)
(5)

Jean-Jaques Rousseau
Jeremy Bentham

James Mill
John Stuart Mill

Question not attempted

_ Which of the following theories are

associated to Machiavelli's political
thoughts ?

(i) Moral Indifference

(ii) Universal Egoism

(iii) The Omnipotent Legislator
(iv) Philosophical ambiguities
Choose the correct option : |
(1) - Only (i1), (iii) and'(iv)

(2) Only (@), (in) and (iv)

(3) (1), (i), (i1) and:(iv).« o
(4) Only (i), (ii) and )
(5) Question not attempted -

o=



47, swrew % aiiE FeR % ey
frrifera § @ @ 91 Y FETEDR 7

sy wEen & e SwEmH

19. fig
H wira + goEa & oY

Tferefierar

. Which one of the fulan'}ﬂB‘
statement is not correct regarding
the Ambedkar's economic thoughts ?
(1) Insurance i8 compulsory of all
citizens. '
(2) Nationalization of lJand 18

necessary.
(3) Private economy 18 necessary

to accelerate industrialization
in India.

(4) All important industries ':'lf
the country must be in public
gectors.

(5) Question not attempted

_ Who among the following scholars
said that “it is not politics that get
caste ridden, it 1s caste that get
politicized” ?

(1) Lloyd and Sussane Rudolph
(2) M.N. Srinivasan

(3) B.R. Ambedkar

(4) Rajni Kothari

(5) Question not attempted

_ Which term was firstly used by

i ‘aftgor s % |

wH. . a3 3t
Fad TES 18 TR

3 & o Sl e A
=1 wam fean o 7

(1) AT

}5) AR W

50. Arifra § ¥ frae gEd FETEEA ;
50.

M.N. Srinivasan in his work 1.e.,
“Religion and Society among the
Coorgs of South India”, to explain
the process of upward mobility
within the Hindu caste system ?

(1) Modernization

(2) Urbanization

(3) Sanskritization

(4) Westernization

~ (6) Question not attempted

Which of the following 1is  not

favoured by Jawahar Lal Nehru ?

(1) Laissez-faire state

(2) The system of graded taxation

(3) Gradual change of social
conditions

(4) Parliamentary democracy

(5) Question not attempted

*.'.



61.
WS} arg - Avg) A I
(1) Wl e 3wty fnfo H1 46 87 | |
(2) wg wifta i sedfigd h T
H 3R R ¥ |
(3) wRdtw wfgemsli & ofed H |
E?wmmﬁmma;
| |
M) it B e w0 ol R
etz e Wy @ S R
TR g = a9 2 |
(6) stz we
62. 79 WA e ¥ gt & wr i |
O T s JRew g
mqmmnﬁmmmﬂamﬂﬁl.l
(II) ?ﬂmﬂ;mﬂm
AT i ¢ @A T &
Wmm'ﬂﬁaﬁ]t'
SR F & B /A wh 2/
(1) & (1)
A2 (1) 3tk (11) 3t 3
(3) a3k d A N
(4) aﬁ?l(]) l
(6) rFaRa ww |
5. e 8 i e e s |
T g R 2 <
) 25 5adt, 1971 =
(2) 02 3Taga, 1973 o
(3) 27 3nra, 1972 )
(4) 14 7dW, 1970 |
(6) afmse ll
'
18

frw 3w 3 R 2004 & AR FH | 61.

62.

53.

pose ‘Wad_a_]Na Tod..
Abhiyan f‘;"rﬂezooﬂl 7 y
e building of a dam,

: valley: _
in silent v the widespres,

%) roblem : of 8eXug|
harassment. |

ose the patriarchy)

3) To opp the lives |

domination 11
Indian women.
To increase EOVernments

accountability to end poverty
and to ensure that .the state
adheres to the Millennium

Development Goals.
(5) Question not attempted

Consider the following statements
regarding the new social
movement's approaches :

(I) New social movement
theorists assuming that the
process of collective identity
formation is formed due to
structural factors.

New ~ social movement
stressing upon a centralized
network that gsustain a
movement rather than
recognizes g variety of

aubmei%ed latent networks.
“ ;

(4)

(1I)



ers had

54. _
ifera o A e
¥ deacd ferames
mﬁa;ﬂ: | mﬂg ﬁ 2 | 54
(1 I Sa— Which of th
2) VR ymbioticall e ‘rise of M
ife eme y lin cworld’ ]
( rgence of J ked with e
3) AR (1) E ehadi terrori the
8 rnest G rism ?
e
(4) ﬁﬁq‘w (2) eq ]lﬂEr
{5y v i (3) B;: Edm"ﬁ“
B (4) edict And
b | Reniami erson
5. ﬁﬁmw A ' (5) Qen]ﬂmln Barber
L . m
o (1) f ! 3 | 65. Whi pted
e W Fota Organizati egarding W ement i8
T Fee : 1d Tr
AR W e 3 P (1) The ade
(12) %ﬁ & "‘Eﬁiﬁ ﬂf tnpmﬂst dEﬂ. i
R ETeA % ! ‘ Or Fhe wuiﬂlt;?n making
- - ponion e
| ﬁ‘@ﬂ mi ; e
P 2 I nisterial 18
@y s ' usually m conference the
1l C3 T Secretari ade Organi
'Hﬁ'a'[aﬂ %‘; ’wﬁ1m % I (3) ‘vﬂrld rat iE bﬂﬂed iiﬂ-g-l:ﬂtiun
-mﬁ,ﬁ 1 qi™ ﬁtﬁ'ﬂ%ﬁ | ‘ Secret jTl"ﬂdE 0 . neva.
:‘ﬂt ﬁ Eﬁg I H ariat 1 rgﬂnlza .
I dire is h tion
(4) fova =R & | Sec Esor 854 eaded by &
|4l RS gugid maiie:ari“t has E;HI' The
s Efes g B mﬁi 4) W g power. o decision-
(6) aﬁﬁﬂ mmﬂ'ﬁai d orld Tr
m | Eg.rEEm adE Or .
- e fean - and = zmdn
. —Clt T Y- esti
/(B aﬁﬂ & 71 3 E—. ] 1on not attem
2 : a
atio that
(3) bec n Nati d
Tq. |1 \ ome a’ ation- ue
N . st to
(4 i (1) ostalgic Fi ate h
/Lﬁ)' (2) dJohn Gr hmee |
03 i S (3) ay
w o
(5 eda Skoc
19 ) Que . Pﬂl
stion not attem]
mpted ‘
4




s7. 3 &M & Wy § frefre Fe T

fomm $ifsTu . '
() AfwadmmgyedEEel |

Gi) 38R 2 9, 2003 7 foea &6 T |

(i) 3% 2016 & wra & UgA@ T |

¥ semm & w9 § 9w 90 T

FRIHIA e R |

Tt & et fpmmm e

sRfAM T i a/A T /e 7
(1) Had (iii)

2y (i) @ (i)
& O, () T (i)

(4) <= (i)
(6) A ¥ |
58, Fafafgadia s Asuawdi € 7

I. m@ﬂz@aﬁwtﬁg@qaﬁeﬁ_-l
HeE wrel, aguEt i e )
IYT GEE AT AR | |

II. feuefia Ium r=aaiga q31 iy Hien
FIIAHFEFAR |

III. &€ 76 Ta+d F=NEE o1 H
1w Pt o aren Fraa |

IV. F=gE g5 $e HR-9R 3y |
fifs geme d Joag gad Iy
FHR 3raEtl S g ° i 3 |
wR

qEl faeeq =1 997 IS ;

(1) wae 11 AR 11T

(2) SHaa I, 111 IRIV
8) HEAIAMIN
(4) Faal I3MIV

(BY  FmiE ¥

M
oy -

57. CﬂnBidE-

58.

[ ]
sl
."!
= il

(1)

(ii)
'.f__’(iii)

Which of the
above is/are correc

(1)
(2)

3
6

ing =t it F L
follow
r the

nga - .
B:]lwg 15th President of

orld Bank Group:

his four-year term
World Bank  group
president o June 2, 2(?23.

He was awarded Wwith the

padmashri’ 11 s

President of Indig‘ |
statements given

t 7
Only (ii1) r
Only (ii) and (iii)
(i), (ii) and (iii)

Only (1)
Question not attempted

Which of the following statements
are correct ?

I.

dig,

I11.

(1)
(2)
(3)
(4)
(5)

International Monetary Fund

funds come from three
sources member quotas,
multilateral and bilateral

borrowing agreements.
Bilateral borrowing is the
primary source of International
Monetary Fund funding.
T_he board of Governors is the
highest decision making body

of the Internationa] Monetary
Fund.

. International Monetary Fund

s gradually majnstreaming
climate related risks and

opportunity into ; :
advice. O __1ts~ policy

Choose the correct Option ;

Only IT and II1
Only I, III ang A%,
Only I and 11
Only I, IT and IV

Question not attempteqd
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y>

59. fammes (BIMSTEC) &1 viugi firat | 59

@mﬁﬂmawmgm?
(1) % fee=h
(2) el
(3) HHId
Wy T
(5) 3T S
(600 wam T
ﬁmﬁwﬁﬁaﬂ?mmuﬁ@g?
(1) s @l 9fga agaa TP waETEwl
& s faifae 29 aeh gee
wfgen 4 |
(2) 1948 & 2023 7 Q fava # #gw
e & wifa FigE & | 71 wfa
T § widigi A Fad @ #
(3) 2007 ¥ ¥R, TYE TP & A |
ST TEAT 9 &1 |
w/waﬁﬁgﬁwﬁwﬁﬁﬁﬁﬁw
affy =1 ggeT A8 A T4 T |

(5) Jgaia ¥ |

(2) affeTe I T TP
(3) o 9 Tt . foardl
(4) e sRe 7. eE. faE

/Lsﬂ’aaaaﬂam

03 21

§ wra # e & gof o | 60.

Where was the 5% BIMSTEC
summit held in virtual mode ?

(1) New Delhi
(2) Colombo
(3) Bangkok

(4) Dhaka
(5) Question not attempted

Which among the following i8 n?f-
correct regarding the role of India
in United Nations ?

(1) Vijaya Laxmi Pandi
first woman to be elected
President of the United
Nations General Assembly.

(2) Indians have served
United Nations Peacekeeplng
missions established aroul
the world since 1948 to 2023.

(3) In 2007, India became the
first country to deploy an all-

women contingent to a Unite
Nations Peacekeeping

Mission.

(4) India was elected the first
chair of the Decolonization
Committee of the United

Nations.
(5) Question not attempted

t was the

Who among the following was the
Force Commander and Head of the
Mission of United Nations
Disengagement  Observer Force

(UNDOF) at Golan Heights in 2006 ?
(1) Lt. General J.S. Lidder

(2) Lt. General Chander Prakash
(3) Major General L.M. Tiwari
(4) Major General 1.S. Singha

(5) Question nnt'ﬂttémbted |

+

|



62. W ¥ g § Q) gt w1 wm ww | 62,

%} fvg yumwe/apefd g
fim‘-'mm?

S S Tay, qw (4) i iad
(6) rFvia wen

63. I F I } v R W IR
A TG T I 3tk i w1 o

A & GAfFRfor § a9 ) o 3 | 63.

ST Hu Fraferfn § 2 i Tt
ﬁﬁﬂﬁﬁﬂ'ﬂﬁﬁg? |
(B veaEEmRE

(i) arE=<
(i) T=pfos wimad afk m_;
dHias ey
(iii) |OE IgaHToy
(iv) fowamr wfsramd |
(1) &« (i), (iii) 3K (iv) |
(2) <3 (i), (iii) 3 (iv) |
(3) (), (iD), (iii) 3R (iv) |
(4) @ (i), (ii) 3R (iii) |
&) 3rgafE s - |
66. T-Frdw it B e o |
FAEE 7 | | 5.
(1) 1955 421 196 |
(3) 1962 (4) 195, |
(5) FAgAR@wHA - . ]
% N

enee nr {wo Senp" n'm““h
linment of Indin

delivered by which ol l-ll!: rn“nw“l“
Prime Minister/ President 7

(1) Helen Clark

(2) Shinzo Abe

(3) George W. Bush

(4) John Howard

(5) Question not attempted

The “Conflu
in the Par

To know is to Dbear ),
responsibility for acting nnd to p
is to engage in reshaping socioly,
The above statement is relnted |y
which of the following polition|
theories ? _

(1) Positivism:

(2) Post-Behaviouralism

(3) Empiricism

(4) Behaviouralism

(6) Question not attempted

. The mechanisms for regulating the

demands arising in every political
system are classified by the Easton
into which of ‘the following brond
types ? |
(1) Gate-keeping

(i) Cultural - mechanisms and
socio-cultura] norms

({11) Communication channels

(iv) Expansion Processes

Choose the correct option :

(1) Only (), (111) and (iv).

(2)  Only (ii), (iii) ang (iv)

@3 @), Gi), (11i),.and (iv)

(4) Only (1), (ii) and (iii)

(6)  Question not attempted

-
=

When  wag the :
Movement formally eatabﬁ:;::;];gnml

(1) 1955 o
3) 1962 54; igg}

(5) Question not attempted
03



66. "{Tﬂ;ﬁm ?i'Ffﬁ'l' ')i T‘i““ ﬂ Lb'““‘"‘"ﬂn

aregAl o wt

) amig N 1960 W o ey
w, mg ah wher fwn i
aotfe deaf @) 3R s
st wrd B wnfien fgio
) qroguatl @ i e

qmfr weEpfa @ smanon 1960 i
m 3@“‘ T dan 6 g o),
3 gfa 2wl - amfam, fea, e,
gt 3l Afaam & et
A & ATE | g |

e few g gt A bk /A B/

(1) e (ii)

(ii)

2y (i) 3R i) 2

03

(3) A4 @) 3R A A (i)
(4) &ad (i)

(5) ITIaRE I

Té faeq 94 :

(1) A (i), (iii) 3N 1)
(2) Fa (i), (iii) 3N (iv)
3) (), (i), (iii) 3T (v)
(4) Had (i), (i) I (i)

o uichis

|

11

06, Consider the following stateme

67.

nth

rogarding Politienl Culture’ :

() Almond coined  the term
‘politienl culture’ in 1950 and
neknowledyed that his
conception of political culture
wnu inapired from Weher an

Parsons  traditions  of pocinl
theory.

The notion of civic culture
formulnted in 1960 by
Almond nnd  Verba, which
omerged nfter a unmpnrnli\’ﬂ
ptudy of hve nntiong = USs,
UK, Italy, Brazil and Mexico.

Which of the statements given
ahove ig/are correct ?

(i1)

(1) Only (i)

(2) Both (i) and (11)

(3) Neither (1) nor (11)

(4) Only (i)

(5) Question not attempted

According to Almond and Powell,
which of the following are included
in the common characteristics of
every political system from a
structural-functional perspective ?

(i) Political structures
(ii) Same functions
(iil) A political structure

performing many functions
(iv) Isolated systems
Choose the correct option :

(1) Only (i), (iii) and (iv)
(2) Only (ii), (iii) and (iv)
(3) (i), (ii), (iii) and (1v)

(4) Only (i), (ii) and (111)

(5) Question not attempted

3



71. F99 TqegA B FA04Tdard fuem a
- — fagm F @ay | 71. Which one of the following pairs 4

q ﬁﬂm ﬂ 7 ?Fi.Fl ] Em "Ffj ',E]T i-'-'{ ii:f not EerTf_‘-{:t]}’ mﬂwhud r[‘-gﬂfding

:ﬁ}”” 7 | Kenneth Waltz'e neorealist theory ?
FAUER F= Fatdrg qfm | International Internatiunﬂ]
(T=a vETEal (=g ' Structure (State Outcomes
sl . afeverad Units and (Effects of State
2. _ % ) Relations) Competition)
(1) wzﬂm — AT T (1) States as ‘like - International
HEIUTH AN 2T unite’ recurrence and
(2) FEARTH — Fm repetition
o= : (2) Unequal state - Internatinnﬂ]
| Py gz : capability conflict, war
(©) 1:;'?_1-'1: Y — HAUGH WA (3) Great power - International
(4) FAuga - mqﬁww | relations change
Ha==A1 | (4) International - Collective
(D ':ﬂiﬂ‘ﬁﬁ U7 | Anarchy gecurity
ad | (5) Question not attempted
(- ﬂh-iifw{ﬁﬁiﬁqmﬁmi%l
e e ‘ I 29 Who among the following did not

SECIREREEILED i:_mII*-ﬁ-i =3 fZmaw g9
F = NAgEIF s I FEm n = 2 A

assume  that  the  political
development can be evaluated 1n
terms of the level or degree of
absolute power which the system 18
able to mobilise ?

ﬂfmm (1) Lucian Pye

’-ﬁJ/ g U, FEE (2) Talcott Parsons

| e (3) Gabriel A. Almond
=4 Coleman

il (4)

(5) Question not attempted

- = g = =4 HHU;E
73. Tmﬁ‘m :_‘ i 4 | 73. Who among the following scholars
FFFAl & JArE 15417 ; & T ‘ advanced the notion of an
_:@:ﬁ I B AT 20 7 | ‘Anarchical Society’, in place of the
"4 b ) | conventional theory of
mif/m Ly O | international anarchy ?
| ARG A FL A | (1) Michael W. Doyle
s (2) Kenneth Neal Waltz
@ FHT | (3) Hedley Bull
4,/ ggnfa’r:qq | (4) Woodrow Wilson
5) A 7 | (5) Question not attempted
25 %

03



4. Fefafen § 3 fam fagm 3 o dw | 74,

Mefede wgm @ R e Re| # |

e — — -

Hﬁﬁamﬁaﬁﬁmmmﬁaﬂtﬂl
TSt fomm & i & wam &1 4
L. e Ry

(1) = Ay

(2) i AT

(3) U« fmg

(47 e s

(5) IIIvfa wve

——— . Sle——
L ]

75. ﬁwﬁﬂ%ﬁﬁﬁaﬂqmmw 75.

m%hmﬁmt ?

%
i
;
‘
!

(3) SHHI YR F7 AevE Gy
IFET B |

|
l
76. re=ifea fegri 3 & fras newe sifeye }
1 o= %1 ‘e’ w71 7 |
QY & |
|

|

|

|

|

|

(2) fTTm=mE
(3) &= F
(4) T anife
(5) Fqai@ wH

Which of the fbllnwing_schnla.m‘ i
his article ‘Political sﬂlﬂnce in th
United States’ has g1ven credit ¢,
A1 Lowell for bringing technijcy)
advancement 1N Psyc}}olng}, o
the use of psychology In the pey,

political science ?

(1) Charles Mariam

(2) Herold Lasswell

(3) Robert Nisbat

(4) Robert Dahl

(5) Question not attempted

Which of the following statements
is correct regarding empirica]
theories ?

(1) It is based on speculation and
logic.

(2) In this, critical and prescriptive
method is used.

(3) The criterion of its validity is
‘True or false’.

(4) It is chiefly concerned with
values.

(5) Question not attempted

called  Ideology of :
Oakeshott as ‘Quietism’ 9 s

(1) Hannah Arendt
(2) Leo Strauss
(3) Henery Carille
(4) Eric Voegelin
(3) Question not attempteq
03



() T G § -0
Taui § et seaiw e A |

e 3tk 33 Rr Fw mie R |
FEW JEqe w AHAR W
fafir=y W % weierolt & mTe @
R foran wman & 3k el sl &
el F wtg iy s g A
STt R |

o R e e 3 & /A w7 7
(1) e (ii) |

(i) 3R (ii) =i

(3) Fa () T # (i)

9 (i)

(4) RS N aWETg

AT T

70. Frifin § 3 9 3 g 9 TR %
sRemETRIRE?
(1) . IAFER & 8. e
2) 2.5 9w R AR
(3) TU.%=h T B TR
,w’ S =8 T 2faE e

AR JH

the following statemep;
«piscal Federalism” .

) Fiscal federalism involy.
examining and  stabiliziy,
only the vertical imbalane,
in centre state financig)
relations.

N - imbalances
(11) Vertlﬂﬂl m L dre
generally stabilized throyg

various types of transfers ang
in Indian context these issyes
are examined by the NIT]

Aayog.
Which of the statements given
above is/are correct ?
(1) Only (11)
(2) Both (i) and (i1)
(83) Neither (i) nor (11)
(4) Only (1)
(6) Question not attempted

Consider
regarding

. Which two states have border

disputes over the Belgaum ?
(1) Maharashtra and Karnataka

(2) Tamil Nadu and Andhrs
Pradesh

(8) Maharashtra and Andhrs
Pradesh

(4) Karnataka and Tamil Nadu
(6) Question not attempted

. Which of the following scholars are

cnna_idered as the founders of New
Institutionalism’ ?

(1) M. Eisner and E. Erikson

(2) J.G. March ang dJ. Olsen

(3) A.Frank ang D.J. Elazar

(4) Jean Blonde] and David Apter

(6) Question not attempted
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77.

frferfra 8 @ *% W fagm oo
gt i “weffa Ffewi” @ g i § ¢
(1) A&

(2) wafe @him

(3pr'tﬁnmusﬂ.ﬁnq

(4) oA .U, TR

j/aﬁ It WA

78. TaHfew fag & Iudfien & Ao A

03

Tt fagm weifa faam &

Uk YT & 9§ Javd ¢ |
Gi)y uerfes fagra  SEUROTEHS

FaTERy % 9 § e §IE U@ Y

1 Sroom 3 feam wER FAIR |

(1)

|
|

. T — N — ——

27

77.

78.

ars 19

Which of the following schol
tual

h the “conte*
phy ”

not associated wit
approach” in political philoso

Jﬂhn Dlll'ln

(1)
(2)

Quentin Skinner

3) H.R.G. Greaves

(4) John G.A. Pocock

Question not attempted

(5)

following gtatements

Consider the
the utility of

with reference to
political theory -
(i) Political theory 18 essential a8

a discipline of pnﬁticﬂl
gcience.

(i) Political  theory 88 a
conceptual framework
provides  inspiration and
direction to data collection
and research.

(iii) Political theory helps in
providing scientific
explanations.

Select the correct answer among
the following :

(1)
(2)
(3)
(4)
(5)

Only (i) and (i1) are true.
Only (i) and (iii) are true.
(i), (ii) and (iii) all are true.
Only (iii) 18 true.

Question not attempted




+

2y S (i) 7w Gii) wh § |
(B) I (i) 7o (i) w & |
) e (iii) TE R )

(5) FFafa wom

D) msfea afefs =dam #1 v 34t

JfRr@ T &, T 9% w@aEa @
foam el 78 g |

HEl fasey g

(1) FFaHu () a2 |

(2) HH D) wE () A TIE |

(3) ¥ (D) wd (11) g1 = § |

FU/ FaaFHE () FIE |

45) I T

[

79. Consider the following Ht’"“”l’jr-,”::
| regarding positive liberty —

(1)

(ii)

(i11)

The concept of positive ]i|"_,”}|
connects liberty wit'h BOCH -
I'ightﬂ, E't‘.']ljﬂ]if.}' and Justice
The concept of positive libepy,
arose from early liberaligm

C.B. Macpherson and .Jgh,
Rawls are proponentg of
positive liberty.

'
"

Select the correct answer :

(1)
(2)
(3)
(4)
(5)

Only (1) and (i1) are correct.
Only (ii) and (iii) are correct.
Only (1) and (iii) are correct,
Only (iii) is correct.
Question not attempted

Consider the following statements
regarding liberty —

()]

(IT)

Gerald C. MacCallum argued
that the state can only protect
the negative liberty of an
individual. Protecting positive
liberty does not come within
the scope of the state’s
consideration.

Isaiah Berlin gees liberty as a
triadic relﬂtinnﬂhip. Agent,
constraint and goal unless
these three elements are

present the ideg of liberty
cannot be meaningfy].

Choose the correct option :

(1)
(2)

(3)

(4)
(5)

Only statement (ID) is true.
Both statement (D) and D
are true.

Both statement (I) and dD
are false,

Only statement (D is true.
Question not attempted
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&l Py o Q) LORRY CRTR| “gh:m R

(N

(2)

@)

(4)

(6)

u uatve fogeg W, U
L ARSI LA
e w wely
v FRT we e
W) YR w0 A T
Mrw w aftwfeon Ry s
el wn W wdw & e |
e R

A ow aifefn forgra
yRETANa) duw, favw vy 9
Uad A1 gro whivarfa fasn wan |

OEGIGRE

82, Praferim A 2} e we o fon @
TR F W% s W wddef i

(whetnifafes fdem) w53 e’ 7 |

(1)
(2)
(3)

5’“

A

RIS RUIES
fas dew

TEY, AT, FAR
© Aue, arfa

K GILGRNEE

83, Prfufa 3 @ form fagm 3 s & e
W) Ry &1 =magel @ sl BT 3
el & amfaw wd @ g% wA R,
forent fyaoo s R 7

(1)
A2)
(3)
(4)

(5)
03

HIge®He dleat
© efas fyew

A Jdwfa=

=tez gafda

FANA 9

N1,

82.

83.

Which of the following statemonts
in not corvect ?

(1) Libertarianism an a political
theory s support for n free
IIIIII'|u-t ceonomy,
Libortarinninm conniders
rodistributive taxation to be
l'lil’ululnnll'lull_\' correct,

(2)

(1) Nozick's entitloment theory is
influenced by the idens of
John lLocke and  Friedrich
Hayek.

(1) The entitlement theory of

justice wan  propounded by
libertarian writers, espoecially
Robert Nozick.

Question not attempted

(6)

Who namong the following has
argued that ‘each citizen of a state
will have to learn to become na

cosmopolitan citizen’?

(1) Groham Eric

(2) David Held

(3) W.R. Brubaker

(4) T.H.Marshall

(6) Question not attempted

Who among the following scholars
has stated that all distributions
are just and unjust relative to the
social meanings of goods at stake ?

(1) Michael Walzer
(2) David Miller
(3) D. Tocqueville

(4) Ronald Dworkin

(5)

Question not attempted



84.

83.

86.

WA wree fufyam, 1935 & =ria T

ez @nfHe J1E R 1 €id &
T F wey | fyifea A 4 w1 W gm

2

e gRfem 7@ R 7
(1) ITA-¥E] - 3

N g - 7

(3)
(4)
(5)

T - 1
WRATT §6TE — 2
ARG T

TEOINNTE Yo WA @ afeuE 8w &)

e i A R st S weg 2 7
(A) === sfafy

(B) Tz gfafy

(C) wuwizw sify

(D) wu sfaus sfafa

TEl fooms =1 53= Fifvw.

(1) Faa(A), (B) 3N (C)wdi & |
36 (A), B) s D) s@ &)
(A), B), (C) IR D) w@ & |
59 (A) IR B) A E |

FIARA ¥

(3)
(4)
(3)

1935 % WRa we4 Fufaaq 1 55 gm
T 9% Wy &0 T 5 snfye fawd
T T TER Id F94 SRS INel

FI FERA ¥ F94 9% & FqEn s 7
(1) "7 11
(2) ORI 102
(3) R 106
(4) U6

£5) IEORA ¥

L

30

84.

85.

86.

Which of the following pairs js
correctly matched with referenc.
allocation of seats in the Counej ,1
State under the Government
India Act, 19357

(1) Anglo-Indians — 3

(2)
(3)
(4)
(6)

Europeans — 7

Coorg — 1
Indian Christians — 2

Question not attempted

Vallabhbhai Patel was member of
which of the following committees
of the Constituent Assembly of
India ?

(A) Steering Committee

(B) States Committee

(C) Union Powers Committee

(D) Union Constitution Committee
Choose the correct option :

(1) Only (A), (B) and (C) are
correct.

(2) Only (A), (B) and (D) are
correct.

3) (A), (B), (C) and (D) are
correct.

(4) Only (A) and (B) are correct.

(5) Question not attempted

In which Section of the

Government of India Act, 1935, it
was provided that the Governor
General would govern the reserved
subjects according to his discretion
with the help of his executive
councilors ?
(1) Section 11
(2) Section 102
(3) Section 106
(4) Section 6
(5) Question not attempted
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(v =BT 75(3)
(2) FIT 75(4)
(3) IR 75(5)
(4) TR 75(2)
(5) JFuia wF

gt I'
(D wiedt srgget - srgfa & w |
Fqfaa SAATadl 1 T9TEe |

E
g
g
;
?

w8 I g

(1) &= (I0), A1) IR IAV)
/gy%man.mnmm
(3) Faw (D) IR (D)

4) Faa (111 3R AV)

(3) Al e

|
|
|
|
|
|

87.

In which article of the Indian

Constitution the principle of
collective responsibility of the
Council of Ministers is codified ?

(1) Article 75(3)
(2) Article 75(4)
(3) Article 76(5)
(4) Article 756(2)

(5) Question not attempted

. Which of the following provisions

of the Indian Constitution can be
amended by simple majority of the
Parliament ?

(I) Abolition or creation of
Legislative Councils in States

(I) Fifth Schedule -
Administration of Scheduled

Areas and Scheduled Tribes

(III) Supreme Court and High
Courts

(IV) Representation of States in
Parliament

Choose the correct answer :
(1) Only (1), (I) and (IV)
(2) Only (II), (III) and (AV)
(3) Only (I) and (II)

(4) Only (III) and (IV)

(6) Question not attempted




89. Wiy Thwm & fFefafea # & f6 | 8
e # fer Mg AR FEA
Tt & feu g ?

90.

YRd dfeum & s & @1 H
f=fefae wuE w e it

@

(D)

ot Im R -

(1)

(@ RO A

(3)
(4)
(5)

* (A), (B), (C) 3 D) =& & |

H9a (B) IR D) T E |
&9 (A), (C) IR D) =A & |

F9a (A) 3R (B) T& € |
HFAE I

I AtE ¥ @@ we Mo
e # e e 3 Rk R
f6 wmET w1 A 8 yafda
fFTsnEsa R |

Yot g & A wd |
=marerd 3 e % 9@l afqum 6
wrr & s € & Tl e |
shm ¥ fafts fdew 3 weEa |
R

Fad YT (DI R |

Fuq (1) @& (1) -i s £ |
adl HU () T R |

FHARA ¥

W
N

90.

9. In which of the

the

fund

following articleg

Indiﬂn Cﬂnﬂtitutiﬂn' th{.

ﬂmentﬂl rights are given onl.

g l?
for the cit1zens :

(A)
(©)

(B) Article 19
(D) Article 28

Article 15
Article 20

Correct answer 15 -

(1)
(2)

(3)

(4)
(5)

Only (B) and (D) are correct,

Only (A), (C) and (D) g
correct.

(A)r (B)r (C) and (D) are
correct.

Only (A) and (B) are correct.

Question not attempted

Consider the following statements
about the preamble of the Indian

Constitution :

()

(1D

In the Union of India vis
Madan Gopal Case Supreme
Court held that the preamble
can be enforced in the court.

In Berubari Union Case
Supreme Court stated that

preamble aids the legal
interpretation of  the
Constitution where  the
language is found to be
ambiguous,

Correct answer is -

(1)
(2)

(3)

(4)
(5)

Only statement (II) is true.

Both statement (I) and (1)
are true,

Both statement (I) and (11
are falge.

Only statement (1) is true.
Question not attempted
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(5) 21% UF (1) nd s ndia of
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: y following state
- . _ Consider the fo €meny,
4. v &6 vt R onveel Wl % | 04 n?gurding emergency powers qf ,, -
w3 Py weal wt R @R : president of Indin :
() wrm avw o oriafs arwify @ G) It is the duty of the Pregjg,
‘ ﬁ'ilﬂ'ﬂﬂfﬂi L0 ]]rntect the Etnt?s Againe
TS ThY A e WEH external aggression ani
R internal disturbance,
i I il (ii) During  emergencies
(i1)  amara ¥ o s 1 R weEE Beesident A md;
st % wadda w1 Prevam Tgufa suspension of the enforcemeny
TR T WA R | all the rights conferred by
Part II1. ’
B2 T T F‘Hﬁ il ALt Select the correct answer using the
LT codes :
(1) *as (i) s R | Codes:

(3) (i) 7 (i) D e ¥ | (2) (i) and (ii) both are correct.

(4) Faa () adiR |
(5) i@ W

(3) (i) and (i1) both are incorrect.
(4) Only (1) is correct.

(6) Question not attempted
|

95. WRd & ®faws & Wraum & =wia, | 95. Under provision of Constitution of

IS AR AAEE ) ge 3R India, the Supreme Court may
3 make rules for regulating generally

witra & @ s & fo ﬁﬂ'ﬁl the practice and procedure of the
TN EHATIR - ; court with the —
: (1) recommendation of the
(1) W & agafa 6 R @ President of India.
}2)/ WITd & T9fa & Jruie | ! (2) ?Ppruval of the President of
ndia,
(8) ¥ % Tgafa & 3‘3%“ 3 l (3) instruction of the President of
India
4) WA % Tgafe i iy '
@ » 1 (4) ﬂﬂﬂi:%nt of the President of
(6) AAa W= | India.
(6) Question not attempted
+. 34 03



98. Fafefga § ¥« @1 9. Fa= AW
% Y9I gRT SR & "gaa W foig

99.

. AT SN A . S PR J . BIESSSE NN e Al e e F

FA 6 iR FEta g ?

(1)
(2005)

(2y Ifaw UQw EAW NG HY

(1998)

(3) &I FR FAW AHTAIG T
(2001)

(4) THYS Yg1E g474 Wd 99 (2006)
(5) TaRa WA |

e o @ i & gfaus =1 SR @
I UG faum a1 % 93l g a9y

AU g=Ra R ?
(1" 187

(2) 188
(3) 189
(4) 186

(5) TG ¥H

HTHE F IER “I=HaW T B
3 g0 gAY Y o an fen e e

&1 AT A ) iR el ?
FT=D¢ 137 |

A FAR I &AW WRA §Y

98.

99.

|
|
|
|
|
|
|
|
|
|
| 100.

e S B TUEE— —

Which of the following case i,
Supreme  Courts
judgment about the powers of the
Governor to decide the claim
majority of the government ?

(1) Anil Kumar Sharma vy
Union of India (2005)
Jagdambika Palesh v/s Union
of India (1998)

T.R. Kapoor v/s State of Tamil
Nadu (2001)

Rameshwar Prasad v/s Union
of India (2006)

Question not attempted

related to

(2)
(3)
(4)

(5)

Which of the following articles of
the Constitution of India is related

to the oath or affirmation by

members of State Legislative
Assembly ?

(1) 187 (2) 188

(3) 189 (4) 186

(5) Question not attempted

Accarding to which of the following
article of Indian Constitution —
“the Supreme Court shall have
power to review any judgment
pronounced or order made by it” ?

(1) Article 137
(2) Article 136
(3) Article 134
(4) Article 143

Question not attempted

(5)

— —-‘h—_m&%. i

102

103




A B At sy W:
A N TN sy e
!ﬁﬁ?‘ﬁmmﬁmwg?
(1) TR 134
(2) ITBT 135
(8) =T 136
(4) IT=8% 133
/(5)’ FAART W
g7. -1 1 11 & e =% i g
LR RRIE T R o oy —
T :
-1 g1
(ATl s & wraam) (F=B)
A. §EE % GHI TeAl i
Y 436
B. a1ftes faefig faam
C. “uv fadgs" &t qfturs
D. SETIEH /
% :
A B € D
(1) Gv) @) @) (i)
M Gy GiD) G0
@) Gil) (@Gv) (@) (i)
@ @ G Gv G

(6) s s

35

97.

| 96. Which of the following articles of

the Constitution of India mentions

the  terminology  that  the
‘Jurisdiction and powers of federal
court under existing law to be
exercisable by Supreme Court’ ?

(1) - Article 134
(2) Article 135
(3) Article 136
(4) Article 133
(5) Question not attempted

Match List-I with List-II and select
the correct answer by using the
codes given below the lists :

List-I List-11

(Provisions in Indian (Articles)

A.

B.

Constitution)

Joint sitting of both (i) 116
Houses of Parliament
Annual financial (1) 110
statement
. Definition of “Money (iii)112
Bills”
. YVotes on account (iv) 108
Codes:
A B C D
(1) Gv) @) @) (i)
(2) (v) (i) @G) (@)
(3) ) Gv) (1) (i)
(4) ) * () (iv) (iid)
(5) Question not attempted .



101: mq 8 B TEF{ = A | 101. Which of the following Htﬂt?mHﬂF 19
o : ﬁﬁﬂ% % fou g * | ~ not correct regarding qunl:ﬁcntlr:ll
mﬂwﬁ@ﬂ | g}r }il;épuintglent of Judge in the

% igh Court
(1) 8 ¥ % oy e nmﬁmm } (1) He has for atleast ten yenrs

held a Judicial office in the

territory of India.

2) w7y TE | ! (2) He is in the opinion of the
3) T 3= =mem # 1 U 2 T President a distinguished Jurist.

CIDEES b e B UGS i (3) He has for atleast ten years
been an advocate of a High

waﬂaﬁ?ﬁ; mmﬁl | { Court or of two or more such
(4) 3 mﬁﬂmiﬁmmﬂq | ' Courts 1n succession,
5 (4) He should be a citizen of India.
(6) I W I (5) Question not attempted
102. ﬁﬁlﬁiﬂﬁﬁﬁqmw?ﬁmqﬁt ? | 102. Which of the following pairs is not
(1) I3 228 — T T s T | correctly matched ?
% o v & 3w (1) Article — Establishment of a
AT H =TT 298 common High Court

9/ Wzgg — I= AT O# for two or more states

Ifawrd 3 a9 (2) Article— Officers and servants

229 . and the expenses of
: - bl - High Court
(8) HF=o5 - 9= : (3) Article- Extension of juris-
FUHIET F1 7Y 9230  diction of High Courts
T &3 W fa=an | to union territories
(4) 313353 2927 — | =EEE & { (4) Article—~ Powers of superinten-
Fptfigor H I | 227 dence over all courts
=TT $1 AIfed | by the High Court
(5) A T (5) Question not attempted
103, Wity s 3 faym aw & & 9=y | 103. Which of thedf:]lnwing pair is not
- < correct regarding Indian state and
A fefefga 3 @ S8 @13 Te! E@z ! Legislature seats ?
(TY) (Fram wwn i) (State) (Legislature
tf{) A 140 . seats)
] (1) Kerala 140
30
(2) m@ e 3 I (2) Madhya Pradesh 230
(3) =Emg 288 I (3) Maharashtra IR8
4) FAeH 226 | (4) Karnataka | 226
(5) WW (5) Question not attempted




104,

105,

vk wfve # fedafan 0 o e
e AP L I (R T P U
a1 oy ot w1 taread o et
dr 4 ffea w7

(1) 244.9 (U~ 2454

(3) 2449 (4) 2442

(6)  aqufra uyra

WA o warad) i # goeay o Seofafoa

w4 vt Sapan At

(i) 7oy reppdtn wyaean & 2o qvaa)
A 3 vz, fon wrkgn f)
whan %, Foau 1956 @ wean T qea
#x oz § wiufa fope £ |

(ii) wwm wfufa 3 uferzs 8 #=m 5
e ™ wifF 7w =rdm @ g
wraTaE w5 bz 38 w5 e

(iii) 31 A zm .56, 17 afafa
F1 7729 1985 9 fFn man |

L T4

(1) A4 (i) 741 (iii) FA # |

(2) FAA (i) 747 (iii) TA# |

/wf (i), (ii) 741 (iii) AT AA & |

106.

*.

(4) FAA (i) 741 (ii) A 2 |
(5) FI90A 54

TEFAE T=9EA TR Fufaam, 1994 Fi
froifea 4 & fag um 8 9= A0 -
= % wiFEa ",Fﬁaﬂ'{mﬁmﬁm
Gt A

(1) 97131
(3) 97133

(7 FE IR

g1 32
T 30

(2)
(4)

|

104,

105.

106.

According to which of th'E fﬂ“nwjnn
article of Indian Constitution iy,
conduct of all elections  to
panchayats ahall bE' vested in |,
Yinte Election Commission ?
(1) 243-] (2) 243-D
(3) 243-G (4) 243-K
(5) Question not attempted

(‘onsider the following statement,
regarding Panchayati Raj in Indis -
(i) During the second five yeq,
plan, the Planning Commission
appointed a Committee under
the Chairmanship of Balwant
Rai Mehta in 1956 to review
the community development
programme.

Mehta committee said in its
report that the community
development programme
failed because it could not
generate the required interest
among the local people.
G.K.V. Rao Committee was
constituted by the Planning
Commission in 1985.

Select the correct answer using the
codes :

Codes :

(ii)

(iii)

(1) Only (i) and (iii) are correct.
(2) Only (ii) and (iii) are correct.
(3) (1), (i1) and (iii) all are correct.

(4)
(5)

Only (i) and (ii) are correct.
Question not attempted

In which of the following Sections
of the Rajasthan Panchayati Raj
Act, 1994 the powers, functions

and duties of Sarpanch and
Upsarpanch is mentioned ?
(1) Section31 (2) Section 32

(3) Section33 (4) Section 30

(5) Question not attempted
03
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@

=27 TE T a2
ﬁ-_.,—#_: TENE FETE - 2004 % = |
e = = ==ﬁ?mﬁ|
:ﬁﬁ’; S 7 us I
(777 23 =7 (TS |
) Sdem |
(1) ¥ (Fw2z) - 12 |
) = A - 5 I
(4) A T - 37 |
6) FFEAH |
i |
|
|
|
|
|

(1I) 1949-?-73?1?_"3—?;:@?
m?ﬁ"#?‘zmm
‘&w.ffwa‘w

FIE2- |

(1) F=sm= s

ﬁ/mﬂ'}"ﬁ;(ﬂ)#ﬁfl

@) =ZJ=() = AT F=92 |

(4) EEs==1)=5=2

(5) #4\“1-.& L ar

SR R R R Ak

TE ST e s A TE
= % 57 == Irma 25 99 § O
213!53':‘;3::-.“.%?&?

(1) T a==aEa

2) wmFaT=EEa

@) == Tz

) #mz=2zaEa

ﬁ’, T A
L5t
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112. Which of the following pair is not
correctly matched with reference to
General Election to Parliamentary

Constituencies 2024 7
(Name of the (Number of

Political Party) Seats Won)

(1) Janata Dal - .12
(United)

(2) Rashtriya Janata - b
Dal

(3) Jharkhand Mukti - 3
Morcha

(4) Samajwadi Party - 37

(5) Question not attempted

113. Consider the following statements :
() The US Secretary of Defence
George Marshall announced
the Marshall Plan to provide
economic help to Greece and
Turkey on 5 June, 1947.
(II) In 1949, The United States of
America founded North Atlantic
Treaty Organisation with
Eastern European Countries.
Correct answer is —
(1) Only statement (II) is true.
(2) Both statements (I) and (II)
are true.
(3) Both statements (I) and (II)
are false.
(4)
(5)

Only statement (1) is true.
Question not attempted
114. Which of the following committees
has recommended that age
qualification for contesting in
elections to the Legislative Assemblies
and Lok Sabha should be reduced to
21 years from 25 years ?.
(1) Dinesh Goswami Committee
(2) Indrajeet Gupta Committee
(3) N.N. Vohra Committee -

(4) Tarkunde Committee
(6) Question not attempted

Py



116, ‘sfitym  wegyftn fsw’ @ WAl

Prerfrfas aerl qu R AR :

1)  srear ¥ feg Ryasrd 32 %
3im % wq i anfan A @l 2003 A
Jrfqtera vy sl wEman |

T —

mmﬂﬁmﬁtﬂml
& /AT 1 |

a8 faseq gfiu .
A Fg@wya (1)t |
W"W(I)@(lmﬁmll
(3) A (1) vE (1) A swe
(4) Faawm (et
(6) ol wwm
116. 2002 ¥ wg# U= aife & upafy St
mwa.mﬁammawiJ
g A gl FewdvgaERd 7
(1) %, ST @ s
(2) W, TR wE o v
(3)

|

:

116. Consider the following statem

116.

117.

Ents

‘Operation .
i nng

regarding Endy

Freedom' :

() As a part of its ‘Globa) War
Terror’, America Iﬂunuhnn
‘Operation Enduring Preeg Ed.
from the year 2003, om

(II) In this operation th,

target was Al-Qaedg Hndm?;.llz

Taliban regime of Afghan
Choose the correct optiop, -
(1) Only statement (II) ig ¢y

(2) Both statement
are true.

Both statement (I) and
are false. ah

Only statement (1) is trye.
Question not attempted

istan‘

(I) and 10
(3)

(4)
(5)

In 2002 United States of America’s
President George W. Bush
identified which of the following

group of countries as part of ‘Axis
of evil’ ?

(1) Iran, Lebanon and Israel

(2) Iraq, Pakistan and China

(3) North Korea, Lebanon and
Pakistan |

Iraq, Iran and North Korea
Question not attempted

(4)
(5)

Who among the following was the
President of the Socialist Repufflic
of Romania during the ‘Romanan
Revolution (1989)' ?

(1) Erno Gero

(2) Nicolae Ceausescu

(3) Alexander Dubcek
(4) . . Janos Jozef Kadar

(5) QUEBtiDn not nttempted
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neider the following statep,
110. &7 g gaa 3N 3= g9 ATGHR ' e E}?uut the Chief Elmzt.::t"
afufram, 2023 d wafRa Feafarea | Commissioner and other Elﬁ'tlnjﬁ

Commissioners Act, 2023 :

HYH] . :
Wﬁﬂnﬁﬁq @ The . Chief Eli}{:[j” |
I T&g g wge 3R g9 ATGH Commissioner  and ﬂth;.n
% Prafds wgafa gro == afufa £ Election f“ﬂ“‘ﬁ‘““;rﬂ sha
Frris be appointed DYy Lhe Fregid.,
m q & e, on tI;,E recnmmendati:::]i}m
U, evma #§ faus & I selection cnmmit_:tee cnnsisﬁna
3t Wt =marer & T <A of the Prime Mmiit;r. leade,
AR of opposition in Lok §
an s gﬁ% afifa ¥ form R i, o
, T4 Supreme Court.
¥ forg ot safdwdt 31 o e () A search committee ghy)
4 | ! prepare a panel of g
_ persons for consideratjop of
el fares w197 A the selection committee,
1) ¥ | Choose the correct option :
(1) FE () TR | ' (1) Only statement (II) is trye.
L2 s M) rRADeiam g | (2) Both statement (I) and (I0)
are true.

(3) =HF (T) 3tk (A1) <t s £ |

3) Both stat
(4) FEEFHT @)=L | R ek asd O

are not true.
(4) Only statement (I) is true.

— ———— i — T W—

5
(6) gaia s (5) Question not attempted
111. e 3 efta sraeen & i & ReRled | 111, Consider h -
: he following statements
mﬂtﬁiﬂﬁﬁm: reggrdjng the party ayatemenin
(i) Rrimfer srreht 7o v 1925 | .
k| (i) Thtibslihﬂi]:ﬂmﬂni Akali Dal was
esta ed in 1925.
(i) AW sl Ta 3 gfram 9 () Shiromani Akali Dal had
qin <1 e oy R e | | strongly opposed the demand
(i) ﬂ?ﬂ e 3 | for Pakistan. |
10843 & s :I E' | (iii) E‘he Telugu Desam Party
Afwr . ame 1mnto existence in Andhra
FZ H1 T4 F g7 7 I | Pradesh in February 1984.
e ' Secliem the correct answer using the
e codes :
() FEEGE)EAR) , cu:; : |
/(2)/ m(ﬂ) T (idi) 7E & | - (1)  Only (i) is correct.
(3) (), i) e (i) Tt et i & | (2)  Only (ii) and (ii1) are correct.
(4) &I () 13k . I (3) (), (i) and (iii) all are not correct-
5) mm : | | (4)  Only (i) is correct.” -

(5) Question not attempted
40. 03
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wr@ # FH A B W wffy ) e
e § A T R 7 S
(1) ffmaa gl wfufy

(2) 785, =Tram By

w’ THIS i afyfy

(4) T HUTE T

5 AR 9

los_mmﬁﬁmmma;mﬁ
frferigd wuAi W fmm Hifv .
(i) WOREIN HT SEER T -
(i) WEQEIA F WEER W § Ffy
A JAftreh st g R )
(i) FH 4 gE ¥ woem ok
IR TT AT e § |

IOT.

=

e e — .|

L T8
" A (i) T (i) TR E
(2) et (ii) 7T (iii) ¥E E |
3) (@), (ii) T (iii) T & |
(4) eI () WEIR |
(5) IANE THA

109, Fr=ferfaa st w fa=m Fife

0 745f Gfeuym donm fufEd

965 arde, 1993 | AT A | |

D 743 wfue e sfutEm 7w |
et =g frerat @ 1241 IEEE |
i gfag 18 F@ & FA F
afrerTt fean ma |

() FEaFHADEAR

L2y o (1) 3R AN S FE R |

“(8) = (1) w@ (1) g1 wE T E |

@) FaEsEHOTHRI]

e (6) - rafia ¥
e
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107. Which of the following committees/
commission has not been_rel.ntaed to
urban administration in India ""

(1) Girijapati Mukherjee Commuittee
(2) Y.B. Chavan Committee

(3) Rafiq Zakaria Cnmmit?&e

(4) John Mathai Commission

(5) Question not attempted

Consider the following statements
regarding voting behaviour in
Indian politics :

(1) VnI:ers' behaviour is influenced
by socio-economic factors.
Voters' behaviour is greatly
influenced by religion and caste.
At present, voters participate
in elections in a completely

ordered manner.
Select the correct answer using the

codes :

Codes :

(1) Only (i) and (i1) are correct.
(2) Only (ii) and (111) are correct.
(3) (1), (ii) and (i11) all are correct.
(4) Only (1) 1s correct.

(5) Question not attempted

Consider the following statements :

() The 74t  Constitutional

Amendment Act came into

force on 25 April, 1993.

The 74t  Constitutional

Amendment Act empowered

urban local bodies to perform

18 functions listed in the 12t

schedule.

Choose the correct option :

(1) Only statement (I]) is correct.

(2) Both statements (I) and (II)
are correct.

(3) Both statements (I) and (II)
are incorrect. .

(4)

(5)

108.

(1)
(111)

109.

(II)

Only statemeqt*(ll) is correct.
Question not attempted
&




IIB. @;T; 31_:_".“.“ &; ﬂ ﬂ ﬁ?ﬂ 118, Ancurding to whi[:h of Lthe fl‘l”ffl'ﬂil'l]{
HqT g g L2 articles of the Churter of the

a L ‘ & Iilzl‘_‘?ii & YN -9 United Nations, n uum;hu; af the
| 1 i ' 1 biisns
Fected Tl 8, itz ) fag B United  Nations  which
qgTEyl 99 3§ mﬂ'{mﬁm = persistently violnted the principles
" ha H HqH) contained in the present (hinrter
Lk may be expelled from  the
,(kf 3“3@3 b organization by the o innnln:l
' DT Assembly upon the recommendution
@) - of the Security Council ?
(3) 3T 12 (1) Articln b
W (2) Article 6
) : (3) Article 12

2 A 994 (4) Article 4

(5) Question not attempted

119. t[ﬂtﬁil e W At Frefefaa we 119. Consider the following stutements

w fa=m ﬁﬁ’r’l: about the European parliament —
(I) ‘E‘f‘ﬁﬂ qHe & 959 WS gle ad e (I) The members of the Eurupean
yaE #9 1 faffra ga € parliament  are  directly

elected every five years.

(D) T Fere 1 faarh wifdmat fomm (IT) The legislative powers of the

s s guFa AT | | European parhhament were
A I 1 T4 I - reduced by Lisbon treaty.
| Choose the correct answer :
1 Al (D HFﬂ'a | I (1) Only (II) is true.
@ @O3maA)IFaTE | |~ (2 Both(I) and (II) are true.
(3) (1) 3 (II) SHi FFA & | (3) Both (I) and (I) are falge.
(4) 9o 1) Hﬁ% l (4) Only (I) is true.

(5) Question not attempted

JB) Fgafta g

120, e e arafe & fr=ifea # @ &8 | 120. Which of the following Presidents
of the United States of America

nm ‘ m' %

A o AR T 7 o first proclaimed the emergence of a
3¢ ¥} gy $1 i ? ‘New World Order' ?

(1) fae fFee (1) Bill Clinton

| i (2) Jimmy Carter.

W et (3) Barack Obama

- ®) = i | (4) George H.W. Bush (Senior)
(@) Wz, T (FA) (5) Question not attempted

el |
e st

43 , +--|



|

e
121,30 & e faem & FFEN 1121 According tﬂth Bruner'
- ¥ Tl : constructivist eory, the
BTRITNEIWﬁ m =4 a'-' - ﬂ Hdd ¥4 ﬂﬂnﬂtrUCtinn ﬂ'f ]{ﬂﬂW]EdgE h}. a
7 :mﬁ_er_mﬁ{m &+ Y :mﬂ%m HTh JH learner through his own effortg
&) T ] FETAT B independently by interacting with
. his environment i8 called :
A A Fftr (1) Conceptual learning
(2) 3= Jft™ (2) Discovery learning
(3) affa arftrm (3) Prugrﬂmmﬂd learning
4) FrEfm sfrm (4) Guided learning
(5) — (5) Question not attempted
122. 38 g =TT ¥ S8 B 1292. Characteristics of good mental
' health are :
(a) HNTHAITEH
. (a) Self confidence
(b) waTTERE rfRE .
| (b) Emotional unstability
(¢c) Foia =3 6t gman - £ .
_ (c) Ability to take decisions
d) Frafta sfam nfafaftai . -
‘ (d) Regular life activities
= f&d ™ F2 1 I7G Fh FEl ST H .
Select the correct answer using the
=4 FHIfT - codes given below :
L T | Codes:
(1) (a), (b) 7Y (c) | (1) (a), (b) and (c)
(2) (b), (c) 741 (d) - (2) (b), (c) and (d)
A8 (@), (c) 7 (d) (3) (a), () and (d)
(4) (a) Tl (b) | (4) (a) and (b)
(5) 3T WA (5) Question not attempted
123, “TTE . 2 EFI 123. “Human behaviour is the function
TR R | | of both the person and the
2 |" 7% wefifa w2 - environment.” This represents —
oFreTeR (1) Thorndike’s connectionism
(1) i (2) Lewin's field theory of
2) «fe F arfirm gaf & fagra - learning
J 3) Skinner's theory of operant
3 i 1 e I fire conditioning -
(4) uTEdTa &1 I ey fagr (4) Pavlov's theory of classical
conditioning
(5) FACING ¥¥A (6) Question not attempted

+ a4 03




126. ﬁmﬂﬁmﬁm%@ﬁﬁﬁ | 126. Which of the following ., _

(d) =afres aftgsh
TR 2 M 5 sw@m =% 7@

GECE

(1)
(2)
3y
(4)
(5)

127. frcrferfian 3 @ @ # wse &) srate

128, fPoili #1 39 uefas W Tindw

(b) 71 (d)
(b) 7T (c)
(a) 741 (c)
(a) YT (b)
IwRa W

— == —_———— —

|
|
|
|
|
|
|

127.

standardized tec :::_1: Ues
assessment 1n FUldan--=
counselling for mental hez3.: -
() Questionnaire

(b) Aptitude test

(c) Sociometry

(d) Personality invenior:
Select the correct answer using ...
codes given below :

(1) (b) and (d)

(2) (b) and (c)

(3) (a)and (c)

(4) (a) and (b)

(5) Question not attemptad

Which of the fDHD“‘iIl_E 1S noo -
internal barrier of communicssi-z °

(1) Non-attention

(2) Invisibility

(3) Poor previous learning
(4) Prejudices

(5) Question not attempted

8. The type of guidance given tc
adolescents to solve their mental
and confidential problems is called —

(1) Personal guidance

(2) Cooperative guidance
(3) Educational guidance
(4) Vocational guidance

(6) Question not attempted

03




(34, T-1 9 GR-11 3 gfern =% ok 3

U F2 | TE I 7w ¥
-1 Th-11
A T A W () e Wit &g wam
W FAT 3T T
B. Y] F (i) F37 3R WrEETaT
T N HUTET a1fs 3
9 &
C. WIS ® (i) qud s
A # TafRm w0
1 9T
D. = H (iv) 3Th wrnat 6
TeaTRd T &u1 wfaeror o
H{Al
2 :

A B C D
(1) @) @v) @) (@)
A2 ) @) Gv) )
@ @Gy @@ @) (Gv)
4 @Gv) @) @ @
(5) TG ¥
125, O WreTs 3O SAnTasl S T A
B2 W7é qx e e 8, T8 IS 8 -
(1) W=
(2) wagm
(})- fereymas
(4) wfafsrare
(6) 3uid ¥

=
un

124. Match List-I with List-IT and select
the correct answer from codes

given below :
List-1 List-I1
A. Knowing (i) Marshalling
one's own emotions 1n
emotion service of goal

B. Handling (i) Handling
relationships feelings and
emotions 80

they are
appropriate

C. Managing (iii)Having skills
emotions in managing
emotions of

others

D. Motivating (iv) Monitoring

oneself feelings from
moment to
; moment
Codes:

A B C D
(1) (@) Gav) @ Q)
(2) (@) G@Gu) G@Gv) @)
3 @ @G @) @Gv)
(4) @v) () @) @)
(5) Question not attempted

125. A child reflect his anger from his

parents to his younger brother, is
an example of —

(1) Regression

(2) Projection

(3) Displacement

(4) Reaction formation

(5) Question not attempted



T R i
e’ = = i 4 -
H@f%waaaiﬁmmmm

(3)

130. =F1-5 % ¥=9-399 =TEEl w 3T

Td TR We w9 § (o amene
e Es a9ifge ?
(a) TG

(b)

(c)
3 fed 72 ¢ T I9ET S e I A

-

=41 @Il

e GER]L

- -
S| rEhal

&34 (b)

(a) 991 (b)
(a). (b) T41 (¢)
(4) =5 (a)

A5y FEea ¥
LX)

47

‘Progressive
context of

odel means —

129. The term
differentiation’
advance organizer m

general ideas of the

in

(1) most
discipline are presented first
then specific.

(2) specific sub concepts AIE

presented first.
general and specific has no
correlation.

specific ideas are presented
first then generalization 1S

(3)

(4)

done.

(5) Question not attempted

130. While using audio-visual aids 1in
the classroom, what should be the
guiding principle for its selection ?

(a) Usability
(b) Availability
(c) Relevance

Select the correct answer using the

codes given below :

Codes:

(1) (b)only

(2) (a)and (b)

(3) (a), (b) and (c)
(4) (a)only

(5)

Question not attempted



sTafRm I HEl ‘ 133. A e the following components
o i i | nfr;ﬂar;rgﬂtem in their correct order :
(a) W |
| (a) Output
) ¥4 ‘ (b)., Input
(c) AT Heyf (¢);, Environmental context
d) S (dj . Process
g I F w77 AR fa m 2 H SéIEct the correct answer using the
g ¥ Fifdu . codes given below :
$: Codes:
(1) (), (), (a), (c) (1) (b), (d), (a), (c)
(2) (b), (a), (d), (c) (2) (b), (a), (d), (c)
(3) (c), (d), (b), (a) (3) (c), (d), (b), (a)
@ (©.0), @), @ (4) - (), (), (a), (d)
(5) 3TN W (5) Question not attempted
134, Tt fafere fawg & wafig T% | H1@ 8¢ ! 184. Which mode of computer assisted
fafsre w=onl &1 et w3 IG1Y FIT instruction is used for covering
A IR F RN @ e e i already learned specific topics

related to a particular subject ?
(1) Educational games

(2) Informational instruction
(3) Tutorial

(4) Drill and practice

(5) Question not attempted

135. Program that is necessary to
operate the computer is known as —

(1) System software
(2) Courseware
(3) Application courseware

(4) Hardware
(5) Question not attempted




A ——

e R, W B BA N e SR W RS

181. frgo-afrm whFn & fom @R
IamTs &) fardreand Prfefea 3 | ®9 @
1§

(a) @ fomm @ 7@ e diwd «
Bare |
®) frmfl 3w @ @ s d
3 e §
(¢) niafafrat R dawems @ ol
izd & |
e fd R £ 6 wrrm @ wd WA
T94 Hif - |
R
(1) (b) T4 (c)
(2) (a)T9i(c)
—(3)" (a), (b) 71 (c)
(4) (a) 991 (b)
(6) Iquia ¥
|
132, mgarft aftrm wfaftmi & @i 4,

|

FefafeadasRmgmmeme 7 |
|
|
|

(1) < e - 9ad g e
2 wE W et sum — e
(3) ¥U TR — o1 v 7w
(4) S wfafy - wiwm

(5 v
+ :

131. Which of the following are t},

characteristics of  constructivig
approach  for tmn:himg,v.lﬁ,;,”.n.mg
process ?

Focus is on learning not

teaching.

(a)

Students make meaning frop,
their previous knowledge gnq

(b)

own experience.

The activities are iInteractive
and student centered.

(c)

Select the correct answer using the

codes given below :

Codes :
(1) (b) and (c)
(2) (a)and (c)
(3) (a), (b) and (c)
(4) (a) and (b)
(6) Question not attempted
132. With reference to cooperative

learning technique which of the
following pair is incorrect ?

(1) Learning together — Joyce and
Weil

Student team
program — Slavin
Group investigation — Sharan
and Sharan

Jigsaw technique — Aronson
Question not attempted

learning

(2)
(3)
(4)

(5)
03




(o - | LTI Py Ut fenfobag
i for0 a2 nvef sy gty VALY,

#

(1) AT A0 a0y g o) i

y f?lﬂlm'ﬁ 4, Iy '.llﬂlruﬂ AR R
LR ULR AT AR P
(4) AR s e ngan sty e i
TAIREL GUGRTEE

15" fﬁlﬁf?‘ffffﬂ 00w 01 v fme, %, foru

(1) foeen®hai &y Aafprs, Pt w)

vy i

AT, wew) €) et @)

ECAE R

(3)  wge nfoekd Y g 1

(ay forenfob £y fererene, S s
) TEATIA 1

(5) FATIA U7

(2)

1m.fqﬂfafi’aﬂﬁi¢=mﬂmfﬂmwim M

2 s st o d At B 7
(i aftrma # feao sahgom
(i) farenfelai =1 zaferea

(v =aferma fafy=ard
: fganayjimmmmmrrﬂm
95 1790

(1) (i), (iii), (v) 37 (vi)
@) (i), (iv), (v) 3 (vi)
Br (), (v, (v) FT (vi)

4y (@), (i), (iii) (V)

(3) ZFma T4

fovat SR &, ere ) o Crfbaey ¢ |

|

LR,

139,

140.

Where doos Peychology nol seem

upoful  for atudents in the

topnching-learning process 7

(1) In  adjusting o the
onvironment. -

() In incrensing competition
among students, |

(3) In nchieving lenrning
ohjectives.

(4) In knowing about our abilities

nnd potentinls.

(6) Question not attempted

Which of the following statements
does not explain the importance of
educntional psychology for a teacher 7
(1) In accepting the individual
charactenstics of students.

In neglecting the problems of
exceptionnl children.

(2)

(3) In understanding the group
dynamics.

(4) In identifying the
developmental characteristics
of students.

() Question not attempted

Which of the following areas are
included in the learner aspect that

concern to the educational
psychology ?
(i) Motivation for learning

(11) Personalities of students

(i) Intelligence

(iv) Diagnosis of learning problem
(v) Psychological problems

(vi) Individual differences

Select the correct answer using the
codes given below :

(1) (i1), (1), (v) and (v1)

(2) (i11), (iv), (v) and (v1)

(8) (i), (iv), (v) and (v1)

(4) (1), (11), (i11) and (iv)

(6) Question not attempted

%




. | <o iy Ui PR E————— Y YT
Mm&- . B

- chology, which of the 143
EERUELES IR IR UL yeiferfeaa i @ v a0 | 141, :‘\;1:;:::;1::: :;l p::h[1mmnrgmnznt.innnl
ety uvired) FrentEnan o) HS AT HE® q_ﬂfﬁ f chwnent of an effective school ?
(1) e AgeeeE (1) [nstructional leadership
() sl sl (2) Curriculum articulation
(1) Ren e s (3) Order and discipline
(4) Staff stability
(4) el
(5) Question not attempted
(h)  arqafa uva
142. Following are somc statements
149, I ad g o) dmait @ mafm $o related to the limitations of
v [eafeafan # educational psychology :
WA (n) ¢ i e @ i fagr, Statement (a) : Only knowledge of
- principles, rules and facts of
Prm e e v W SR v educational psychology are
e e a1 v R | ~ unable to  create an
WY (b) : P wifasm d 0 arfues environment  of  proper
Py §13 A uforms vd e
. Statement (b) : Due to more
Rrarersfa =l e & 1 subjectivity 1n educational
w4 (¢) : Pan vl & fagrl & psychology, the results and
swaivn efm 0 2 € 8 e | conclusions are not reliable.
Statement (c¢) : The principles of
19 2 M g w1 3w w5 gl I educational psychology can ]
aua Hdn . not be used objectively.
e : Select the correct answer using the
codes given below :
(1) (memd Codes:

(3)  (a), (b) 7w (¢) T 8 | (2) (a), (b) and (c) are correct.

' (3) (a), (b) and (¢) are incorrect
4) HAE (n) A9 |

f( (n) (b) 7t & | (4) Only (a) and (b) are correct.
(6) arqafa yw

|
|
|
|
|
(2) (n), (b) aen (c) mﬂ , { (1) (C) 1S Incorrect.
|
|
|
| (5) Question not attempted
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136, fraror— s awan @ argdEl (1CT)
g w0 1 PreferEd i 8 &

(3) Tr feht oft g, wd ft @
e T @ |

(4) I wfest v yEt M
TATaT T R |

(5) 3Iaia wea

137.ﬁm%mﬁﬂﬁq%ﬁmﬁ=ﬁﬁw
TEE NI B WG SRS
W%Wiﬁ@wg?
(a) FTEaEt
(b) Biwam
() wrdagy

136. Which

137.

of the following 1s not the
Jvantage of ICT integratiop in
adva

' 9
t aching-]earmng process °
e

[t passively engages learpey,
in the learning process,

(1)

2 It helps a student i
developing new skills,

(3) It hElpﬂ for an}rtime'
anywhere learning.

(4) It creates Interesting apgq
effective learning environment.

(5) Question not attempted

Which of the following technology
is responsible for the
implementation of instructiona]

activities conducted in computer
assisted instruction ?

(a) Hardware
(b) Software

() Courseware

Select the correct answer using the
codes given below -

Cudes :

(1) (b) only
(2) (a) and (b)
(3) (a), (b) and (¢)

) (a) only
(5)

Question pot attempted

03




-1
(R & :{“:m:)
| )
A, aEm o () R T o e
ice
B. ¥=m (ii) 7% forgr=1 R womd
e e @ v
I W 1 firmy
uitEd= & |
C. fowirman (i) Rreh wrd svera worm
% I F H)
g
D. 3&H3w (iv) whfRafy % e
&S TS
A B C D
(1) (i) @) Gv) ()
2) () (@v) (Gi) (i)
(3) (u) (@v) ) ()
(4) (1) Gv) (@) @)
}5)* i W
144, TiEEa & T1-|mTE fagra § B |

ﬁ-mﬁmmwmmﬁﬂm,

e i1 @ e e A i 3 R 7 }

(1) qﬁmmﬁwmwm|

(2) e favam @m AfavEE |
& 9419 g9 |

(3) A favara @m feEE T |
gt &9 Bl

143. Match List-I with List-Il given

below :

List-I List-11
(Piaget's (Description)
Concept)

A. Conservation (i) The assumption
that one's way of
thinking 1s the
only possibility.

(i) The principle that
quantities remain
constant under
various changes
in their
appearance.:

C. Reversibility (iii) The ability to
undo mentally,
an action or
operation.

D. Egocentrism (iv) Attending to only
one aspect of a

B. Centration

situation.

Select the correct code from the
following :

A B C D
(1) @) @) v) @)
(2) @) Gv) (@) (@)
3) (i) Gv) @) (@)
(4) (1) Gv) Qi) (@)
(6) Question not attempted

144. In psycho-social theory of Erikson,

which psycho-social crises precede

and succeed autonomy v/s Shame

and Doubt ?

(1) Industry v/s Inferiority and
Identity v/s Role confusion

(2) Basic trust v/s Mistrust and
Initiative v/s Guilt

(3) Basic trust v/s Mistrust and

Industry v/s Inferiority

(4) Initiative v/s Guilt and
Industry v/s Inferiority .
(6) Question not attempted
+




VAR Petiesi 0 elpiniesisn Tann & c1gv
Pl 4 6w O R

(LRI B b |
" (T e ook
TR TR TR
LU TRTET LTI I Y
M0 on el 0 0 g 9 i)
LEER AT

AR LRI E LT
(D e ) e )
M A (), () el
() hae (), (0) el
() et v

0, st S anqent, danaieren fmon ) fa
WAL wete v, gl g g
eNew A4 A ey gqedn s By
(1) uialaenens s

e ulavan sraeen
() AT St
() wenenss sreee
(h)  srqeila wv

147, Tafofegn 3 @ wda o) wan @) ftw'mn

RLLE '
(1) fowmm o) s sraeenasii 3§ aufidm
LR N

(<) Tarrs wiy vqup ofope wWien B |

() want wy o W v 4l v
A wafan gl B )

() wnfiy-rr-wafin 3 v B |

(6)  averha wea

14h,

144,

147.

Which of the following  nre the
q.'||ur|||‘.In|~iu|||*n ul' ”'H“”I‘an
dovelopment during adolescey,. o

() lmagimation

() Thinking nnd rensoning
(¢)  Abstract emotions

() Hpan of attention increggq.,

(‘hoose  the  most NPProprigte
answer from the options gy,
helow |

(1) (n), (¢) and (d) only

() (¢) and (d) only

(1) (a), (b) and (d) only

() (), (¢) and (d) only

(6)  Question not attempted

According to Bruner, in which
stnge ol cognitive development do
children learn and use the
concepts, formulation and
caleulations ?

(1) leonic stage

(2) Concrete operation stage
(4)  Symbolic stage

(4)  Enactive stage

(6) Question not attempted

Which of the following is not the
characteristic of emotions ”

(1) Present at all stages of
development.

(2) Have quality of displacement.

(3) Upsurge of emotions &
intelligence are  positively
related.

(4) Differ from person to person.
(6) Question not attempted
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‘ 148. Which of the following laws is not
fram | wia
ﬁgﬂqﬁi f related to principles of perceptual
(1) Pz = fam organisation ?
(2) W@ #1 fgy (1) Law of proximity

(2) Law of effect

(3) TN 7 g
(3) Law of transposition
(4) T # By

ﬁ...-"
/(,) AR g

(4) Law of similarity

(6) Question not attempted

149. TG % it 3 Freffigs & & w1 | 149, Which of the following statement is

FUAFLD R 7 correct about constructivism ?

(1) Learning is experience hased.

F

(1) 3™ s smrha 2 |
(2) afirm faferg B | } (2) Learning is passive.

|

|

|

|

(3) Teacher transfer knowledge.

@/ fers 1 1 T EG

(4) learning is based on
(4) -t gEOgfa o amaTiE R | repetition.
(5) Fala v (5) Question not attempted

150. The reinforcement schedule in

150, form E?H'E-ﬂ 31':!}@ 4 Wl &l TR | which the organism receives
TG :ﬂgm N FE F FC g:rdaq reinforcement after each

appropriate response is called —

ferere &, 38 e N R -

., (1) Continuous reinforcement
ng SERECSL schedule

(2) AU Tﬁh:' 3‘3@ ] (2) Interval reinforcement schedule
(3) IrUTa gﬂﬁﬂ? W ' (3) Ratio reinforcement schedule

(4) 3t EFI'JFH HgH! (4) Partial reinforcement schedule

(5) st T (5) Question not attempted




